
Esercizio 1 

 

P = 
𝑃1𝑉1+𝑃2𝑉2

(𝑉1+𝑉2)
       T = 

𝑇1𝑇2(𝑃1𝑉1+𝑃2𝑉2)

(𝑃1𝑉1𝑇2+𝑃2𝑉2𝑇1)
 

 

Esercizio 2 

 

 = 31/21 

 

Esercizio 3 

 

L1 = 10 cm        Q ≈ 2993 J 

 

Esercizio 4 

 

PREF ≈ 215 W 

 

Esercizio 5 

W = 5/2 P1V ( 1 - (
P0

P1
)

γ−1

γ
 ) 

 

Esercizio 6 

 

v = √
2𝑛𝑅𝑇𝑖

𝑚(𝛾−1)
(1 − (

𝑉𝑖

𝑉𝑓
)

𝛾−1

) ≈ 94,7 m/s 

 

Esercizio 7 

 

c = 
6𝑁𝑘𝑇0

𝑇2 (1 + 𝑒
𝑇

𝑇0 (
𝑇

𝑇0
− 1)) 

 

Esercizio 8 

 

a) W = ½  V0
2 (2-1) 

b) U =  V0
2 (2-1) / (-1) 

c) c = ½ R (+1) / (-1) 

 

Esercizio 9 

 

c = 
𝑅(𝑥−)

(𝑥−1)(−1)
       

 

x=0 => isobara,   x=1 => isoterma,   x= => adiabatica,   x= => isocora 

 

   



Esercizio 10 

 

𝑃𝑉𝑛 = costante,   dove  𝑛 = 1 +
𝑅

𝑘𝑐𝑉
 

 

Esercizio 11 

 

𝐼𝑉 =
𝜌𝐺𝜋𝑅2𝑉(𝐿𝑓 − 𝑐𝐺𝑇𝐺)

𝜌𝐴𝑐𝐴𝑇𝐴
 

 

Esercizio 12 

 

𝐶 = 𝑛𝑅 (
5

2
+

1

𝐵𝑉
) 

 

Esercizio 13 

 

ℎ1 = ℎ0

(𝑃𝐴𝑆 + 𝑚𝑔)

[𝑃𝐴𝑆 + (𝑀 + 𝑚)𝑔]
 

 


